Part 2: Draw the budget sets for each scenario.
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Shop C: $3 per pair for the first 3 and $1 per pair after that.
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Shop B: $3 per pair and $6 for a pack of 4



Part 3a: Draw the budget sets for each scenario
and identify the consumer’s optimal choice.
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Part 3b: Draw the budget sets for each scenario
and identify the consumer’s optimal choice.
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Shop C: $3 per pair for the first 3 and $1 per pair after that.
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and identify the consumer’s optimal choice.

Draw the budget sets for each scenar

Part 3c

$3 per pair and $6 for a pack of 4
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Part 2: Draw the budget sets for each scenario.
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Shop C: $3 per pair for the first 3 and $1 per pair after that.




Part 3a: Draw the budget sets for each scenario
and identify the consumer’s optimal choice.
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Shop A: $2 per pair Shop B: $3 per pair and $6 for a pack of 4
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Shop C: $3 per pair for the first 3 and $1 per pair after that.



Part 3b: Draw the budget sets for each scenario
and identify the consumer’s optimal choice.
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Shop C: $3 per pair for the first 3 and $1 per pair after that.
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Draw the budget sets for each scenar

Part 3c

and identify the consumer’s optimal choice.
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